 UTOIrOBO-
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JTarno:ABCD;AB=bcwm;

BC=13cm;CD=9cwm;
DA=15cm; AC=12cMm

Hantm:Sasco




“eLlleHue:

1 crtoco0: Sascp =Sasc + Sacp

TpeyronpHVKM ITPSAMOYTOJIBHBIE II0 TeOpeMe,00paTHOVA T.

Bpl2ip=13> 92 +1122 —15%
S =" ab :> SABC 5 12 = 30(ﬁl 2)
1

S oo :E-9~12:54(ﬁi %)

S s =30+54 =84(7ii *)




S=\pp-ap-bip-o)  p=TC

5+12+13 9+12+15

Pupc = ’ — IS(ﬁi ) Pucp = 5 =18(7i1 )

§ = 15(15-5)(15-12)(15-13) =/15-10-3-2 = 30(iii )

S .cp =+/18-(18=9)(18—12)(18—-15) =/18-9-6-3 = 54(iii )
S wen =S ne +8 . op =30+54 =84(7i °)
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